
Práctica con Bolas de Nieve (C)
Nombre: Fecha:

Lanza cada bola de nieve a la diana correcta.

3522
÷ 6

307
− 139

429
+ 344

1229
− 875

4560
÷ 8

1239
− 343

103
× 2

589
+ 592

553
+ 298

1652
÷ 4

354 773 570 1181 413 851 896 587 168 206
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Práctica con Bolas de Nieve (C) Respuestas
Nombre: Fecha:

Lanza cada bola de nieve a la diana correcta.

3522
÷ 6

307
− 139

429
+ 344

1229
− 875

4560
÷ 8

1239
− 343

103
× 2

589
+ 592

553
+ 298

1652
÷ 4

354 773 570 1181 413 851 896 587 168 206
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